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ST AT (q9R-T 1)
ECONOMICS (Paper I)
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QUESTION PAPER SPECIFIC INSTRUCTIONS

Please read each of the following instructions carefully before attempting questions.
There are EIGHT questions divided in Two Sections and printed both in HINDI and in ENGLISH.

Candidate has to attempt FIVE questions in all.

Question Nos. 1 and 5 arc compulsory and out of the remaining, THREE are to be attempted choosing
at least ONE question from each Section.

The number of marks carried by a question/part is indicated against it.

Answers must be written 1n the medium authorized in the Admission Certificate which must be stated
clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space provided. No marks will
be given for answers written in medium other than the authorized one.

Word Iimtt in questions, wherever specified, should be adhered to.

Graphs/illustrations, wherever required, may be drawn/given in the space provided for answering the
question 1tself.
Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a question

shall be counted even 1f attempted partly. Any page or portion of the page left blank in the
Question-cum-Answer Booklet must be clearly struck off.
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Yug ‘A’ SECTION ‘A’
1. efefRga @ @ UAS U &1 IO o 150 $isqr H i
Answer the following questions in about 150 words : 10x5=50

1.(a) F -2 IATeT Feld & a1 fopanaiad w1 & fou fowar un & =goas s |

Derive the expansion path for a firm operating with the Cobb-Douglas Production
Function. 10

i.(b)  “weRlEER sfrifiar % st ‘ZhTf TETfgeR Rtk &1 R @ aRal § foheq
qEFTfasR @ rfed el HRdl § | SaTet ity |

“Under monopolistic compectition a firm enjoys monopoly power without enjoying
monopoly profit.” — Explain. 10

1.(c) ezt fo w5 1 safr & SRE ot Firamt aed # had Asrehiwia Fifd gl qe el
eidt % |

Show that n the completé Keynesian model only fiscal policy is effective during
a period of depression. 10

1.(d)  =afehal 3R IR & Jeegd | 99 FTiacht A 99 hieadig! dLlI*IFﬁ & TRl &

A= 3AT &l TS HINT |

Explain the difference between the assumptions of New Classical and the New
Keynesian dpproaches in managing individuals and markets. 10

1.(e)  wufzu fr wuf Ao Ferfaeh wwfy wea &1 aifdes frad S 2 |

Show that full employment is the logical conclusion of the Classical macro model.

10

2.(a) HTHTI%FE AT JHErhTHeRT & forq Tt TEqwa d a2 ‘T{_g[ RO EN G

“Pareto optimality conditions are necessary but not sufficient conditions for social

welfare maximisation.” Comment. 15

2.(b) 34 gfitferfaat w @egm #@ w=f fifve, e aeerta gor qof sfetaa &t ggEn
odl B |

Discuss briefly the circumstances where fiscal expansion leads to full crowding

out. I 5

2.(¢c) Toee hifere T o <t smgfd ® gig g9 1 qen d, afe HAifgs weigd 3 8l 9,
It WTEfud FATfreh Hred § AramEedT I9ER IR aredfas #eigd fohd YR qikafdd
g |
Explain how the equilibrium employment and rcal wage would change 1n a typically

classical model if, in the event of increasc in supply of labour, money wage
becomes rigid. 20

3.(a)  WHI & WA & agAfa &g H, wf R Gg i anamEen & aqdn o 1oy,

Jefeq Torm gaR aoTag fasra 9 o1 ZedATa ad § 7

How Chamberlin uses planned sales curve to cxplain equilibrium of a firm and
group when the entry of firms 1s permitted ? 15

sth-p-econ 2
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3.(b) WIS &l Sl © T [AHIOR0 & Foled®d {3l & 9TH1 W Aq9d # fReEe s |
HaT Ure 8 &1 TR aRd §U Z8%h Hgl gﬁi‘m g2 9Tl TFId TATG hl ATE]
T |
Demonetisation 18 expected to result in a fall in the ratio of currency to dcposit.

Usmg the money multiplier theory explain its possible impact on supply of
Moncey. 15

3.c) 1 &RW 2 T 39 qer ufd ud www oam § Io4 awdvery i Woeanem ok § ?
ag HgIalg! o7 IAeehiHanedl & &9 aIgfaarg &1 a ey &l g ?
Why do you expect a high correlation between the money supply and aggregate

expenditure 7 Does this resolve the monetarist-fiscalist debate ? 20
4.(a)  TIdig THA FT BIAT & 7 TF FS TOMHI HT IJook@ ahifory |

What 1s financial repression ? Mention some of its consequences. 15
4.(b) "HgT & U oF-gF ART €@qd AT ¢ & 9198l digeld del edl g |1 9=t fifsg

“Transaction demand for money 1s not always interest rate inelastic.” Discuss. 15

4.(c)  UH UH dsh ! QT UL hiadrgl 3R FATIHR UHTET &l <9 & Tou I =9 dAifees
ATRTEIA] ohl TASE hITWT |

Explain the Keynesian and classical extreme monetary assumptions for showing

their effects on the slope of the LM curve. 20
9Usg ‘B’ SECTION ‘B’

5. frefaiad 3 9 Ydd 999 &l IO [T 150 9=t § e

Answer the following questions in about 150 words each : 10%x5=50
5.(a)  U¥El AR TAUGE F-UR & o= Hg HIWT |

Distinguish between effective and ditferential tax incidence. 10
5(b)  HAUR ¥ T&ea Wed W Aivw feanit fafaw |

Write a short note on gravity model of trade. 10
5.(c)  UEE 9% i geEdl § TRl o o TEaW wyes o1 T fifsm

Determine optimum tariff of a country with the help of offer curve. 10
5.(d)  ‘Aii-sEtay @@ g ? gEe F4a1 Hfeardt € 2

What 1s ‘solow-residual’ 7 What are its implications ? 10

5.(e) 9RA & fou Sted & i, Sea e d AR & @ fHfead € 7

What are the imiplications of trade mm higher education under GATS for India ? 10

6.(2) TRl AT | Gl UYeh & SUANT UA Icdlgd UHE A AW AR gfd & a=l
Rtk ed g |7 faa= fifso

“The consumption and production effects of a tariff for a commodity depend on the
clasticities of demand and supply respectively.” Discuss. 15

3 sth-p-econ
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6.(b) “for Bt ) vl & araetd, faereena sefenaeen i WiaW deqed feafa |
JUR & H Sanedq &l JoAT § Hifge = deae fawed gar g | s Hitg |

“Monetary Contraction is a better option than devaluation to umprove balance ot
payments position of a developing economy under fixed exchange rate system.”

Discuss. 1 5

6.(c) ¥4 7 2@ [99R @ "gwd € fo favg AR wed (g, 21.31.) & 3wild H{Th ATaR
& wfq oifd s/ amfa R 2 7 39 ITR & Ue H RV A WK ity |

Do you agree with the view that the honeymoon with free trade under W.T.O. 1s at
an end ? Give reasons for your answer. | 20

7.(a) Ut faga IR § 9= ST § 3R IRl hiHd Z.UH. STeR H aTh sidl § | Wikd
§ ‘R’ @t sy fatamio 4 sme & fou eifaas o smara 1A dEwEs © | 54
7.0d, TeR & Ufd ARG &9 & o0 BE B T 0 O] & a1 ) F1 J9TE
T 7
Petroleum is sold in the world market and priced in US dollars. RISCO 1n India

must import petroleum to use it in its manufacturing. How are its profit affected
when Indian rupce depreciates against the US dollar ? 15

7.(b) W & HEWAAT VEA HT HAF T AR ATEAT HIWC | GEINE HAO
TR Ha < fou 99 g1 f6a TaR 3Menys & ¢ °

State and discuss Arrow Impossibility theorem. How does Sen modify it for social
welfare maximuisation ? 15

7.(¢) autzd {5 Fig-2dd Icaied Soid Tead Ud @< el hl deed dehdidhl AT o)

veista &dr © |

Show that Cobb-Douglas Production Function exhibits both Hicks and Harrod
neutral technical progress. 20

8.(a) “sfife sfafsaaanst & ufme 9 snbfs faama =1 w=e=Ea (Hirschman) &1 SY0TH
i wFsAqRIgel g |7 fad= ity |

»

“In view of economic uncertainties, Hirschman approach to economic development
makes more sense.” Discuss. 135

8.(b) “ggfaxer wd fawE F Hem AW-GEAE (JS-ATH) T GHIU I o ARl @
qrar & |7 OfkE StemEry R @ dfen & Sfeima & ded § 3@ Fuw R fewuit it |

“The trade-off between environment and development remains unresolved.”
Comment in view of the United States exiting from Paris Climate Agreement. 15

8.(c) ST aTasti—eh U1 § Soqs 2id aldl 3id:9iel 3(9udT &l aueT i =ared] hitsy |

Discuss the problem of intergenerational inequity arising out of internal public
debt. 20
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